Applications of Novel Transformation for Solving Ordinary Differential Equations with Unknown Initial Conditions

Wasan Hakim ALshemary, Hayder Neamah Kadhim and Athraa Neamah AL Bukhuttar*

Abstract--- In this paper, we apply the Novel transform to obtain the formulas of general solutions of ordinary differential equations with unknown initial conditions through utilizing the relationship between Novel and Laplace transforms.

Keywords--- Initial Conditions, Applications of Novel, Differential Equations.

I. INTRODUCTION

Integral transformations are an abbreviated method for solving many types of equations that are difficult to solve by classical methods [6]. There are quite a few integral transforms applicable for solving differential equations like Laplace, Sumudu, Elzaki, Temimi, Melina, etc...[3,9,10,13]. Laplace transform was widely used in solving several types of differential equations such as ordinary, partial, integral, fractional, and other equations [5,8]. Sumudu transform is similar to Laplace transform [7]. Elzaki transform is a modified form of Sumudu and Laplace transform [4]. Recently, a new integral transform called the Novel transform's

where some definitions and properties of Novel transform are given in [11]. The Novel transform of the function h(t) is defined as:

$$\Omega(s) = N_I(h(t)) = \frac{1}{s} \int_0^\infty e^{-st} h(t) dt, t > 0, (1)$$

where h(t), t > 0, is a real function, $\frac{e^{-st}}{s}$ is the kernel function and N_I is the operator of NIT.

Authors in [12], used Novel transform to solve the differential equation arising in the heat- transfer problem. Novel transform is successfully used on different types of differential equations [1,2,11]. In this research, we apply the Novel transform to obtain a formula of general solutions of linear differential equations, whether known or unknown initial conditions. In section 2, we reviewed the properties of transforms and the important theorems for some functions through the relationship between Laplace and Novel transformations. In section 3, we achieved formulas of the general solution of differential equations of first, second, and higher-order. In section 4, we presented a formula of general solutions of the ordinary differential equation of order (n) without subjected to initial conditions. Finally, in the last section, we applied general formulas obtained in the previous section for solving some differential equations.

Wasan Hakim ALshemary, Department of Mathematics, Faculty of Education for Girls, University of Kufa, Najaf, Iraq.

Hayder Neamah Kadhim, Department of Banking & Financial, Faculty of Administration and Economics, University of Kufa, Najaf, Iraq. Athraa Neamah AL Bukhuttar*, Department of Mathematics, Faculty of Education for Girls, University of Kufa, Najaf, Iraq.

E-mail: athraan.kadhim@uokufa.edu.iq

II. BASIC DEFINITIONS AND PROPERTIES OF NOVEL TRANSFORM

Definition

The Laplace's transform is defined by: $F(s) = L_I(h(t)) = \int_0^\infty e^{-st} h(t) dt$; t > 0, (2)

where h(t), t > 0, is a real function, e^{-st} is the kernel function, and L_I is the operator of Laplace transform. The Laplace and Novel transforms exhibit a duality relationship that expressed as :

$$\Omega(s) = \frac{1}{s}F(s).$$
(3)

In detail, some functions are showed as follows:

*For h(t) = 1 and t > 0, we have :

$$F(s) = L(1) = \frac{1}{s},$$

the Novel transform of h(t) = 1 is derived by the duality relationship

$$\Omega(s) = \frac{1}{s}F(s) = \frac{1}{s}L(1) = \frac{1}{s}\left(\frac{1}{s}\right) = \frac{1}{s^2}(4)$$

*For
$$h(t) = e^{rt}$$
 and $t > 0$, we have: $F(s) = L(e^{rt}) = \frac{1}{s-r}$,

the Novel transform of $h(t) = e^{rt}$ is derived by the duality relationship

$$\Omega(s) = F(s) = \frac{1}{s}L(e^{rt}) = \frac{1}{s(s-r)}(5)$$

*For h(t) = t and t > 0, we have :

$$F(s) = L(t) = \frac{1}{s^2},$$

the Novel transform of h(t) = t can be written as:

$$\Omega(s) = \frac{1}{s}F(s) = \frac{1}{s}L(t) = \frac{1}{s^3}(6)$$

*For h(t) = sin rt, t > 0

$$F(s) = L(\sin rt) = \frac{r}{s^2 + r^2},$$

the Novel transform of h(t) = sin rt can be written as :

$$\Omega(s) = \frac{1}{s}F(s) = \frac{1}{s}L(\sin rt) = \frac{r}{s(s^2+r^2)}$$
(7)
* For $h(t) = \cos rt$, $t > 0$
 $F(s) = L(\cos rt) = \frac{s}{s^2+r^2}$,

the Novel transform of $h(t) = \cos rt \operatorname{can} be written as$:

$$\Omega(s) = \frac{1}{s}F(s) = \frac{1}{s}L(\cos rt) = \frac{1}{s^2 + r^2}.$$
 (8)

The following theorem represent Novel transform for derivative functions and the reader can return for proof to [11].

Theorem

If h(t), $\hat{h}(t)$, ..., $h^{n-1}(t)$ are continuous for

(t > 0) and of exponential order as $t \to \infty$, also $h^{(n)}(t)$ is continuous,

 $L{h(t)} = F(s)$, it follows that

$$L\{h^{(n)}(t)\} = s^{n}F(s) - \sum_{k=0}^{n-1} s^{n-2-k} h^{(k)}(0).$$
(9)

III. FORMULAS OF THE GENERAL SOLUTION FOR THE DIFFERENTIAL EQUATION

a- Consider the first-order ordinary differential equation

$$a_1 \acute{y} + a_2 y = f(t)$$
; $t > 0$, (10)

with the initial condition $y(0) = \beta$,

where a_1, a_2 and β are constants and f (t) is an integrable function.

Applying Novel transform of the equation (10), we have:

$$\begin{aligned} a_1 N_I(y) + a_2 N_I(y) &= N_I(f(t)) \\ a_1 s N_I(y) - \frac{a_1}{s} y(0) + a_2 N_I(y) &= N_I(f(t)) \\ N_I(y) &= \frac{\beta a_1 + S N_I(f(t))}{a_1 s(s + \frac{a_2}{a_1})}, (11) \end{aligned}$$

the inverse Novel transform leads to the solution.

b - The second-order linear ordinary differential equation has the general form

$$a_1 \dot{y} + a_2 \dot{y} + a_3 y = f(t), t > 0.$$
 (12)

With the initial conditions $y(0) = \beta_1$ and $\dot{y}(0) = \beta_2$,

where, a_1 , a_2 , a_3 , β_1 and β_2 are constants and f (t) is an integrable function.

....

Applying Novel transform of the equation (12), we have:

$$a_{1}N_{I}(\dot{y}) + a_{2}N_{I}(\dot{y}) + a_{3}N_{I}(y) = N_{I}(f(t))$$

$$a_{1}s^{2}N_{I}(y) - a_{1}y(0) - \frac{a_{1}}{s}\dot{y}(0) + a_{2}sN_{I}(y) - \frac{a_{2}}{s}y(0) + a_{3}N_{I}(y) = N_{I}(f(t))$$

$$a_{1}s^{2}N_{I}(y) - a_{1}\beta_{1} - \frac{a_{1}}{s}\beta_{2} + a_{2}sN_{I}(y) - \frac{a_{2}}{s}\beta_{1} + a_{3}N_{I}(y) = N_{I}(f(t))$$

$$N_{I}(y) = \frac{sa_{1}\beta_{1} + a_{2}\beta_{1} + a_{1}\beta_{2} + sN_{I}(f(t))}{s(a_{1}s^{2} + a_{2}s + a_{3})}.$$
 (13)

Taking the inverse of the Novel transform of equation (13), we get the solution of equation (12).

c- The third-order linear ordinary differential equation has the general form.

$$a_1 \acute{y} + a_2 \acute{y} + a_3 \acute{y} + a_4 y = f(t), t > 0 (14)$$

with the initial conditions $y(0) = \beta_1$, $\dot{y}(0) = \beta_2$ and $\dot{y}(0) = \beta_3$,

where, a_1 , a_2 , a_3 , a_4 , β_1 , β_2 and β_3 are constants and f (t) is an integrable function.

Applying Novel transform of the equation (14), we have:

$$a_1 N_I \left(\dot{\tilde{y}} \right) + a_2 N_I \left(\dot{\tilde{y}} \right) + a_3 N_I (\dot{y}) + a_4 N_I (y) = N_I (f(t))$$

$$a_{1}s^{3}N_{I}(y) - a_{1}sy(0) - a_{1}\dot{y}(0) - \frac{a_{1}}{s}\dot{y}(0) + a_{2}s^{2}N_{I}(y) - a_{2}y(0) - \frac{a_{2}}{s}\dot{y}(0) + a_{3}sN_{I}(y) - \frac{a_{3}}{s}y(0) + a_{4}N_{I}(y) = N_{I}(f(t))$$

$$a_{1}s^{3}N_{I}(y) - a_{1}s\beta_{1} - a_{1}\beta_{2} - \frac{a_{1}}{s}\beta_{3} + a_{2}s^{2}N_{I}(y) - a_{2}\beta_{1} - \frac{a_{2}}{s}\beta_{2} + a_{3}sN_{I}(y) - \frac{a_{3}}{s}\beta_{1} + a_{4}N_{I}(y) = N_{I}(f(t))$$
$$N_{I}(y) = \frac{a_{1}\beta_{1}s^{2} + s[a_{1}\beta_{2} + a_{2}\beta_{1} + N_{I}(f(t))] + a_{1}\beta_{3} + a_{2}\beta_{2} + a_{3}\beta_{1}}{s[a_{1}s^{3} + a_{2}s^{2} + a_{3}s + a_{4}]}, (15)$$

the inverse Novel transform leads to the general solution of equation (14).

Similarly, general formula can be found to solve differential equations of order (n) by Novel transformation.

$$a_0 y^{(n)} + a_1 y^{(n-1)} + a_2 y^{(n-2)} + \dots + a_n y = f(t), t > 0$$
 (16)

with the initial conditions

$$y(0) = \beta_1, \dot{y}(0) = \beta_2, \dots, y^{(n-2)}(0) = \beta_{n-1} \text{ and } y^{(n-1)}(0) = \beta_n$$

where, $a_0, a_1, a_2, \dots, a_n, \beta_1, \beta_2, \dots$, and β_n are constants and f (t) is an integrable function,

by taking Novel transform for both sides, we get :

$$a_0 N_I(y^{(n)}) + a_1 N_I(y^{(n-1)}) + a_2 N_I(y^{(n-2)}) + \dots + a_n N_I(y) = N_I(f(t)) t > 0$$

$$a_0 \left[s^n N_I(y) - s^{n-2} y(0) - s^{n-3} \dot{y}(0) - \dots - \frac{1}{s} y^{(n-1)}(0) \right] + a_1 \left[s^{n-1} N_I(y) - s^{n-3} y(0) - \dots - \frac{1}{s} y^{(n-2)}(0) \right] + \dots + a_n N_I(y) = N_I(f(t)),$$

Substituting initial condition, yields:

$$\begin{aligned} a_0 s^n N_I(y) - a_0 \beta_1 s^{n-2} - a_1 \beta_2 s^{n-3} - \dots - \frac{a_0}{s} \beta_n + a_1 s^{n-1} N_I(y) - a_1 \beta_1 s^{n-3} - \dots - \frac{a_1}{s} \beta_{n-1} + \dots + a_n N_I(y) = \\ N_I(f(t)) \\ & [a_0 s^n + a_1 s^{n-1} + \dots + a_n] N_I(y) = N_I(f(t)) + a_0 \beta_1 s^{n-2} + (a_0 \beta_2 + a_1 \beta_1) s^{n-3} \\ & + (a_0 \beta_3 + a_1 \beta_2) s^{n-4} + \dots + \frac{a_0 \beta_n + a_1 \beta_{n-1}}{s}, \end{aligned}$$

let k(s) is polynomial of degree (n-1) conditions all the terms of initial conditions in the right side, then :

$$[a_0s^n + a_1s^{n-1} + \dots + a_n]N_I(y) = N_I(f(t)) + k(t)$$

$$N_{I}(y) = \frac{N_{I}(f(t)) + k(t)}{[a_{0}s^{n} + a_{1}s^{n-1} + \dots + a_{n}]}, (17)$$

the inverse Novel transform leads to the general solution of equation (16).

IV. TO SOLVE ORDINARY DIFFERENTIAL EQUATIONS OF ORDER (N) WITHOUT USING ANY INITIAL CONDITIONS, USING NOVEL'S TRANSFORMATION

We will apply the Novel transformation to obtain solutions of the ordinary differential equations with constant coefficients and formed by the general as follows:

 $a_0 y^{(n)} + a_1 y^{(n-1)} + a_2 y^{(n-2)} + \dots + a_n y = f(t), t \ge 0$ (18)

 $y(0), \dot{y}(0), \dots, y^{(n-2)}(0)$ and $y^{(n-1)}(0)$, are unknown conditions,

where, a_0 , a_1 , a_2 , ..., and a_n , are constants, f (t) is an integrable function.

we apply the Novel transform to both sides, we get:

$$a_0 N_I(y^{(n)}) + a_1 N_I(y^{(n-1)}) + a_2 N_I(y^{(n-2)}) + \dots + a_n N_I(y) = N_I(f(t)) t > 0$$

 $\begin{aligned} &a_0 \left[s^n N_I(y) - s^{n-2} y(0) - s^{n-3} \dot{y}(0) - \dots - \frac{1}{s} y^{(n-1)}(0) \right] + a_1 \left[s^{n-1} N_I(y) - s^{n-3} y(0) - \dots - \frac{1}{s} y^{(n-2)}(0) \right] + \\ &\dots + a_n N_I(y) = N_I(f(t)), \end{aligned}$

where $y(0), \dot{y}(0), \dots, y^{(n-2)}(0)$ and $y^{(n-1)}(0)$, are unknown conditions.

$$[a_0s^n + a_0s^n + \dots + a_0s^n] N_I(y) = N_I(f(t)) + a_0y(0)s^{n-2} + (a_0\dot{y}(0) + a_1y(0))s^{n-3} + (a_0\dot{y}(0) + a_1\dot{y}(0))s^{n-4} + \dots + \frac{a_0y^{(n-1)}(0) + a_1y^{(n-2)}(0)}{s},$$

let z(s) is polynomial of degree (n-1), which represent $N_I(f(t))$ and terms initial conditions in the right sides.

$$N_I(y) = \frac{z(s)}{s[a_0 s^n + a_1 s^{n-1} + \dots + a_n]H(s)}.$$
 (19)

Where H(s) is a polynomial of s, and it is represented a denominator of Novel transform for the function f(t). H(s) is also a polynomial of s which has a degree less than the degree of the product $(s[a_0s^n + a_1s^{n-1} + \dots + a_n])$ with H(s) and is not necessary to know the terms of z(s), but we denoted it only by this symbol. The second step of supplementary solution, taking inverse Novel to transform to both sides of equation (19).

$$y(t) = N_I^{-1} \left[\frac{z(s)}{s[a_0 s^n + a_1 s^{n-1} + \dots + a_n]H(s)} \right]$$
$$y(t) = A_1 \varphi_1(t) + A_2 \varphi_2(t) + A_3 \varphi_3(t) + \dots + A_k \varphi_k(t) \; ; \; n < k.$$
(20)

Now, we note that general solution of equation (18), has number of constants (k) greater than the order of equation (18). Therefore, we eliminate extra constants by substituting equation (20) in equation (18).

V. APPLICATION

In this section, the validation and use fullness of Novel transform are showed by obtaining the general solution

of the following equations:

Example (1)

Consider the first order differential equation

$$\dot{y} + 2y = t, t > 0$$
 (21)

with the initial condition $y(0) = \beta$, β is unknown constant,

by using formula (11), we have:

$$N_I(y) = \frac{\beta + s(\frac{1}{s^3})}{s(s+2)},$$

using partial fractions

$$N_I(y) = \frac{\beta + \frac{1}{4}}{s(s+2)} + \frac{\frac{1}{2}}{s^3} - \frac{\frac{1}{4}}{s^2},$$

take inverse Novel transform on both sides, we get:

$$y(t) = \left(\beta + \frac{1}{4}\right)e^{-2t} + \frac{1}{2}t - \frac{1}{4}$$

Example(2)

Consider the second-order differential equation

$$\dot{y} + 2\dot{y} + 5y = e^{-t}\sin t$$
; $t > 0$ (22)

with the initial conditions $y(o) = \beta_1$ and $\dot{y}(0) = \beta_2$,

such that β_1 and β_2 are unknown constants.

By applying formula (13), we have:

$$N_I(y) = \frac{s\beta_1 + 2\beta_1 + \beta_2 + s(\frac{1}{s((s+1)^2 + 1)})}{s(s^2 + 2s + 5)}$$
$$N_I(y) = \frac{1}{s[(s+1)^2 + 1][(s+1)^2 + 4]} + \frac{\beta_1}{[(s+1)^2 + 4]} + \frac{2\beta_1 + \beta_2}{s[(s+1)^2 + 4]}$$

By using partial fractions, we have:

$$N_I(y) = \frac{\frac{1}{3}}{S[(S+1)^2+1]]} - \frac{\frac{1}{3}}{s[(S+1)^2+4]} + \frac{\beta_1}{[(S+1)^2+4]} + \frac{2\beta_1 + \beta_2}{s[(S+1)^2+4]},$$

taking the inverse of the Novel transformation of to both sides,

$$y(t) = \frac{1}{3}e^{-t}\sin t + \beta_1 e^{-t}\cos 2t + \left(\beta_1 + \frac{1}{2}\beta_2 - \frac{1}{6}\right)e^{-t}\sin 2t$$
$$y(t) = \frac{1}{3}e^{-t}\sin t + \beta_1 e^{-t}\cos 2t + \beta e^{-t}\sin 2t ; \beta = \beta_1 + \frac{1}{2}\beta_2 - \frac{1}{6}e^{-t}\sin 2t ; \beta = \beta_1 + \frac{1}{2}\beta_2 - \frac{1}{6}e^{-t}\sin 2t ; \beta = \beta_1 + \frac{1}{2}\beta_2 - \frac{1}{6}e^{-t}\sin 2t ; \beta = \beta_1 + \frac{1}{2}\beta_2 - \frac{1}{6}e^{-t}\sin 2t ; \beta = \beta_1 + \frac{1}{2}\beta_2 - \frac{1}{6}e^{-t}\sin 2t ; \beta = \beta_1 + \frac{1}{2}\beta_2 - \frac{1}{6}e^{-t}\sin 2t ; \beta = \beta_1 + \frac{1}{2}\beta_2 - \frac{1}{6}e^{-t}\sin 2t ; \beta = \beta_1 + \frac{1}{2}\beta_2 - \frac{1}{6}e^{-t}\sin 2t ; \beta = \beta_1 + \frac{1}{2}\beta_2 - \frac{1}{6}e^{-t}\sin 2t ; \beta = \beta_1 + \frac{1}{2}\beta_2 - \frac{1}{6}e^{-t}\sin 2t ; \beta = \beta_1 + \frac{1}{2}\beta_2 - \frac{1}{6}e^{-t}\sin 2t ; \beta = \beta_1 + \frac{1}{2}\beta_2 - \frac{1}{6}e^{-t}\sin 2t ; \beta = \beta_1 + \frac{1}{2}\beta_2 - \frac{1}{6}e^{-t}\sin 2t ; \beta = \beta_1 + \frac{1}{2}\beta_2 - \frac{1}{6}e^{-t}\sin 2t ; \beta = \beta_1 + \frac{1}{2}\beta_2 - \frac{1}{6}e^{-t}\sin 2t ; \beta = \beta_1 + \frac{1}{2}\beta_2 - \frac{1}{6}e^{-t}\sin 2t ; \beta = \beta_1 + \frac{1}{2}\beta_2 - \frac{1}{6}e^{-t}\sin 2t ; \beta = \beta_1 + \frac{1}{2}\beta_2 - \frac{1}{6}e^{-t}\sin 2t ; \beta = \beta_1 + \frac{1}{2}\beta_2 - \frac{1}{6}e^{-t}\sin 2t ; \beta = \beta_1 + \frac{1}{2}\beta_2 - \frac{1}{6}e^{-t}\sin 2t ; \beta = \beta_1 + \frac{1}{2}\beta_2 - \frac{1}{6}e^{-t}\sin 2t ; \beta = \beta_1 + \frac{1}{2}\beta_2 - \frac{1}{6}e^{-t}\sin 2t ; \beta = \beta_1 + \frac{1}{2}\beta_2 - \frac{1}{6}e^{-t}\sin 2t ; \beta = \beta_1 + \frac{1}{2}\beta_2 - \frac{1}{6}e^{-t}\sin 2t ; \beta = \beta_1 + \frac{1}{2}\beta_2 - \frac{1}{6}e^{-t}\sin 2t ; \beta = \beta_1 + \frac{1}{2}\beta_2 - \frac{1}{6}e^{-t}\sin 2t ; \beta = \beta_1 + \frac{1}{2}\beta_2 - \frac{1}{6}e^{-t}\sin 2t ; \beta = \beta_1 + \frac{1}{2}\beta_2 - \frac{1}{6}e^{-t}\sin 2t ; \beta = \beta_1 + \frac{1}{2}\beta_2 - \frac{1}{6}e^{-t}\sin 2t ; \beta = \beta_1 + \frac{1}{2}\beta_2 - \frac{1}{6}e^{-t}\sin 2t ; \beta = \beta_1 + \frac{1}{2}\beta_2 - \frac{1}{6}e^{-t}\sin 2t ; \beta = \beta_1 + \frac{1}{2}\beta_2 - \frac{1}{6}e^{-t}\sin 2t ; \beta = \beta_1 + \frac{1}{2}\beta_2 - \frac{1}{6}e^{-t}\sin 2t ; \beta = \beta_1 + \frac{1}{2}\beta_2 - \frac{1}{6}e^{-t}\sin 2t ; \beta = \beta_1 + \frac{1}{6}e^$$

which represent a general solution of original equation, where β and β_1 are constants.

Example (3)

Consider the third-order differential equation

$$\dot{\tilde{y}} - 3\dot{\tilde{y}} + 3\dot{y} - y = t^2 e^t ; t > 0, (23)$$

with the initial conditions $y(0) = \beta_1$, $\dot{y}(0) = \beta_2$ and $\dot{\dot{y}}(0) = \beta_3$,

where β_1 , β_2 , and β_3 are unknown constants.

By formula (15), we have:

$$N_{I}(y) = \frac{\beta_{1}s^{2} + s\left(\beta_{2} - 3\beta_{1} + \frac{2}{(s-1)^{3}}\right) + \beta_{3} - 3\beta_{2} - 3\beta_{1}}{s(s^{3} - 3s^{2} + 3s - 1)},$$

after simple calculation, we get:

$$N_{I}(y) = \frac{\beta_{1}s^{2} + (\beta_{2} - 3\beta_{1})s + (\beta_{3} - 3\beta_{2} - 3\beta_{1})}{s(s-1)^{3}} + \frac{2}{s(s-1)^{6}}$$

Using partial fractions, we have :

 $N_{I}(y) = \frac{\beta_{1}}{s(s-1)} + \frac{\beta_{2} - \beta_{1}}{s(s-1)^{2}} + \frac{\beta_{3} - 2\beta_{2} - 5\beta_{1}}{s(s-1)^{3}} + \frac{2}{s(s-1)^{6}}$. Take inverse Novel transform on both sides, yields :

$$y(t) = \beta_1 e^t + (\beta_2 - \beta_1) t e^t + \frac{1}{2} (\beta_3 - 2\beta_2 - 5\beta_1) t^2 e^t + \frac{1}{60} t^5 e^t$$

 $y(t) = \beta_1 e^t + \beta_1^* t e^t + \frac{1}{2} \beta_2^* t^2 e^t + \frac{1}{60} t^5 e^t; \quad \beta_1^* = \beta_2 - \beta_1, \\ \beta_2^* = \beta_3 - 2\beta_2 - 5\beta_1, \text{ which represent a general solution of original equation, where } \beta_1^* \text{ and } \beta_2^* \text{ are constants.}$

Example (4)

To solve the equation:

$$y^{(4)} + y^{(3)} = 2sin t$$
; $t > 0, (24)$

with the initial conditions $y(0) = \beta_1$, $\dot{y}(0) = \beta_2$, $\dot{\dot{y}}(0) = \beta_3$, and $\dot{\ddot{y}}(0) = \beta_4$,

where β_1 , β_2 , β_3 , and β_4 are unknown constants.

Apply formula (17) where n=4, we have:

$$N_{I}(y) = \frac{\frac{2}{s(s^{2}+1)} + \beta_{1}s^{2} + (\beta_{2}+\beta_{1})s + (\beta_{3}+\beta_{2}) + \frac{\beta_{4}+\beta_{3}}{s}}{s^{4}+s^{3}}$$

and by simple calculation, we get:

$$N_{I}(y) = \frac{2}{s^{4}(s^{2}+1)(s+1)} + \frac{s^{3}\beta_{1} + (\beta_{1}+\beta_{2})s^{2} + (\beta_{3}+\beta_{2})s + \beta_{3} + \beta_{4}}{s^{4}(s+1)}$$

Using partial fractions, we have:

$$N_I(y) = \frac{s+1}{s(s^2+1)} - \frac{(1+\beta_4)}{s(s+1)} + \frac{(\beta_1+\beta_4)}{s^2} + \frac{(\beta_2-\beta_4-2))}{s^3} + \frac{(\beta_3+\beta_4+2)}{s^4}$$

take inverse Novel transform on both sides, we get:

$$y(t) = \cos t + \sin t - (1 + \beta_4)e^{-t} + (\beta_1 + \beta_4) + (\beta_2 - \beta_4 - 2)t + \frac{1}{2}(\beta_3 + \beta_4 + 2)t^2$$
$$y(t) = \cos t + \sin t - \alpha e^{-t} + \alpha_1 - \alpha_2 t + \frac{1}{2}\alpha_3 t^2;$$
$$\alpha = 1 + \beta_4, \alpha_1 = \beta_1 + \beta_4, \alpha_2 = \beta_2 - \beta_4 - 2 \text{ and } \alpha_3 = \beta_3 + \beta_4 + 2,$$

which represent a general solution of original equation, where α , α_1 , α_2 and α_3 are constants.

Example(5)

Solve the equation

$$\dot{\psi} - 3\dot{\psi} + 2y = 4e^{3t}$$
 (25)

Without subjected to initial conditions, taking Novel transform to both sides and apply the formula (19), where n=2, we have:

$$N_I(y) = \frac{z(s)}{s[s^2 - 3s + 2]H(s)},$$

where z(s) and H(s) are polynomial of s,

After simplification, and using partial fractions, we get:

$$N_I(y) = \frac{A}{s(s-3)} + \frac{B}{s(s-2)} + \frac{C}{s(s-1)}$$
; such that A,B and C are constants,

take inverse Novel to transform on both sides, we get:

$$y(t) = Ae^{3t} + Be^{2t} + Ce^{t} (26)$$

The above equation has three arbitrary constants, but the general solution of equation (25) must contain only two constants. To eliminate the extra constants, we derivative the solution (26) and substitute in equation (25), we find the value of A=2, therefore, the general solution of (25) is:

$$y(t) = 2e^{3t} + Be^{2t} + Ce^{t}$$

REFERENCES

- [1] A. Atangana and A. Kilicman, "A novel integral operator transform and its application to some FODE and FPDE with some kind of singularities," *Mathematical Problems in Engineering*, vol. 2013, 2013.
- [2] A. Atangana and B. S. T. Alkaltani, "A novel double integral transform and its applications," *J. Nonlinear Sci. Appl*, vol. 9, pp. 424-434, 2016.
- [3] A. H. Mohammed, "Solving Eulers Equation by Using New Transformation," *Journal of Kerbala University*, vol. 6, pp. 103-109, 2008.
- [4] A. N. Albukhuttar and I. H. Jaber, "Alzaki transformation of linear equation without subject to any initial conditions," *Journal of Advanced Research in Dynamical and Control Systems*, vol. 11, pp. 163-167, 01/01 2019.
- [5] A. N. Kathem, "On Solutions of Differential Equations by using Laplace Transforms," *The Islamic college university journal*, vol. 7, pp. 43-55, 2009.
- [6] B. Goodwine, *Engineering differential equations: theory and applications*: Springer, New York, USA,2010.
- [7] G. Watugala, "Sumudu transform: a new integral transform to solve differential equations and control engineering problems," *Integrated Education*, vol. 24, pp. 35-43, 1993.

- [8] M. Duz, "On an application of Laplace transforms," *New Trends in Mathematical Sciences*, vol. 5, pp. 193-198, 2017.
- [9] H. Srivastava, L. Minjie, and R. Raina, "A new integral transform and its applications," *Acta Mathematica Scientia*, vol. 35, pp. 1386-1400, 2015.
- [10] L. Boyadjiev and Y. Luchko, "Mellin integral transform approach to analyze the multidimensional diffusion-wave equations," *Chaos, Solitons & Fractals,* vol. 102, pp. 127-134, 2017.
- [11] X. Liang, F. Gao, Y.-N. Gao, and X.-J. Yang, "Applications of a novel integral transform to partial differential equations," *Journal of Nonlinear Sciences & Applications (JNSA)*, vol. 10, 2017.
- [12] X. Liang, G. Liu, and S. Su, "Applications of a novel integral transform to the convection-dispersion equations," *Thermal Science*, vol. 21, pp. 233-240, 2017.
- [13] X.-J. Yang, "A new integral transform method for solving steady heat-transfer problem," *Thermal Science*, vol. 20, pp. 639-642, 2016.